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And do they not argue when it — 5912 N3 Snw 330577 93995 RY WYIRWNTAY
took root; but be learnt, ‘two gardens, etc.’

Overview
The X713 said that X271 »2X both agree that if the 211 °X¥ took root in the ground,
that we follow the root, but not the branch. The &3 challenged this assumption that
we follow the root, from a 7awn where there is a dispute! whether we follow the root
or the plant.
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The questioner (who asked °»%5 X% w17 wk721) assumed that this which it states in
the x°0 of that 71wn (cited here), ‘2'"9 argues, and what if the upper owner will

want, etc.’; regarding this statement, the questioner assumed -
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That this logic of 121 11%¥:7 7¥7° aR 711 is not the main reason why »" maintains

that it belongs to the 11°%3, since the mawn also states there -
- 951 1% P92 19519 PRI 30T Y AT HINKY PYIL 1ARIYY INNMD N 229 N

‘n'"1 said; since both of them can protest one on the other, we should see from

where this vegetable is sustained’; from this statement of n" -
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It seems that they argue in the logic which one of them is the main sustenance —

maoIn supports this contention:
= 1NIYOY VTN (3,5 97 xwen xaz) NIDYN) NHAN PI92 X992 DNN 32) 13299N)

And the X 13 there also states that °"71 n"7 follow their reasoning elsewhere,

! The case there (which the X723 cites here) is regarding a terraced garden (where one owns the higher step, and another
owns the lower step) where a vegetable is growing from the vertical rise between the two steps. 7°X» *27 rules that it
belongs to the upper owner (for it is rooted in his property) and 7717 "1 rules that it belongs to the lower owner (because
the plant is in his air space). We see that there is still a dispute whether we follow the root or the plant.
2 Initially the mawn records their argument as follows; 1" says that the 11°7v can remove the earth where this plant is
rooted in; thus destroying the plant (proving that the plant is his); > says that the 11nrn can fill his land with soil, thus
destroying the plant (proving that it is his plant). If indeed this is the basis for their argument, it would not be relevant
to our discussion here; whether w1 wxT2a all agree that we follow the w™ W and not the 711, Their argument there is
merely who can destroy the plant, so he and not the other should be considered the owner.
3 This means that each party can deny the other the benefit of the plant, by either removing or adding earth.
4 "1 is now saying that regardless who can destroy the plant, the fact is that the plant is receiving its nourishment
from my earth. However *"1 would counter that it is receiving its nourishment from the airspace over my property.
This would contradict our assumption that *»%5 X% w1IwRT2, since here we see that even W1IwRT2 there is an argument
which is primary, the root or the plant
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regarding -
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‘A tree that emerges from the trunk, etc.’, and we also learnt regarding 799y in
a similar fashion —

n1voIN asks:
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And it is astounding, that the X713 here did not cite the case of 797w, where we see
that even w1IwX72 there is still a dispute.

Summary
Initially we assumed that the basis of the np17mn between >"11 n"3 (is not who can

destroy the plant, but rather it) is whether we follow the root or the plant.

Thinking it over
nooIn asks why the X713 did not cite the case of 777v.2 Why did not mooin ask, why
the X3 did not cite the (previous) case of 121 Xxv;77 19°K regarding a sale?!’

5 The case there is where a person bought a single tree in someone’s property, and another tree sprouted from the trunk
of the original tree; n"1 maintains that the new tree belongs to the vpapn Y3, while >"1 argues and maintains that it
belongs to the 12°87 %¥a. We see that n"1 is of the opinion that we look at its nourishment from the ground, and
ultimately this new 12°X is nourished from the ground of the ¥papi %¥a (while " maintains that it is receives its
nourishment from the initial tree [see '0n there &°1m 7" X,0°P]). The fact that the X7n3 relates these two cases proves
that the reasoning by the P2 is not because of the 121 11°9¥77 77X oKX 7nY; for this reasoning is not applicable by the 12°X
YTAT 74 XX, proving that their ultimate reasoning is whether we follow the root or the plant.
¢ The issue is whether this new 17°X is 21 in 777v; according to »" it is, but according to >" it is part of the old tree
and is not 7772 211, The advantage of citing the case of 727 (over the mwn of N1 °nw), for in that instance there
are no MA120 of "1 19w ¥ oXk M (See footnote # 2 [and # 5]); it only depends on whether the root or the plant is
primary.
" See ‘Thinking it over’.
8 See footnote # 7.
? See (TX7) X"wnnm and 190 onn (see there XM 7"7 R,0P 'oN).
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